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Introduction


About Unit 1


Unit 1 is worth 50 per cent of your AS level. It requires an understanding of change and continuity over time and an awareness of cause and consequence within a broad historical context. There are no sources in the Unit 1 examination and therefore all marks available are awarded for your own knowledge and understanding.


In the examination, you are required to answer two questions out of three and each question has two parts. The first part, worth 12 marks, asks you to explain why an event, issue or development occurred and begins ‘Explain why’ or ‘Why did’. The second part, worth 24 marks, requires a balanced evaluation and begins ‘How far’, ‘How important’ or ‘How successful’. The examination lasts for one hour and firteen minutes, unless you have been awarded extra time. You are advised to spend twelve minutes on the first part of each question and 25 minutes on the second part.


The examination will test your own knowledge and understanding of the period and requires you to:





•  refer to relevant historical information



•  demonstrate an understanding of change and continuity



•  show an awareness that events and developments are open to differing interpretations



•  use good English, organise information clearly and use specialist vocabulary where appropriate.





Britain, 1906–1951


The specification lists the content of Unit 1: Britain, 1906–1951 under the following broad headings:





1. Britain, 1906–1914



2. Britain, 1914–1929



3. Britain, 1929–1940



4. Britain, 1940–1951.
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How to use this book


This book has been designed to help you to develop the knowledge and skills necessary to succeed in the examination of this unit. The book is divided into four sections – one for each section of the unit. Each section is made up of a series of topics organised into double-page spreads. On the left-hand page, you will find a summary of the key content you need to learn. Words in bold in the key content are defined in the glossary (see pages 61–62). On the right-hand page, you will find exam-focused activities. Together, these two strands of the book will provide you with the knowledge and skills essential for examination success.


There are two types of examination activities focusing on the two types of examination questions.






	


•  ‘Explain why’ and ‘Why did’ 12 mark questions have this symbol:
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•  ‘How far’, ‘How important’ and ‘How successful’ 24 mark questions have this symbol:
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	The answers or suggested answers to activities are on pages 63–70. Activities with answers are followed by this symbol:
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Each section ends with an exam-style question and model A-grade answer with examiner’s commentary. This will give you guidance on what is expected to achieve the top grade.


You can also keep track of your revision by ticking off each topic heading in the book, or by ticking the checklist on the contents page. Tick each box when you have:





•  revised and understood a topic



•  completed the activities.





Mark scheme


For some of the activities in the book it will be useful to refer to the mark scheme for the unit. Below is an abbreviated form of the mark scheme for Unit 1.




Assessing ‘Explain why’ questions
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Assessing ‘How far’, ‘How important’ and ‘How successful’ questions
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Section 1: Britain, 1906–1914
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The reasons for the Liberal landslide, 1906


In December 1905, in the face of mounting criticism, the Conservative Prime Minister Arthur Balfour announced his party’s resignation from government. Balfour knew that this would lead to an early general election in which he hoped he might limit Conservative losses. However, his gamble went spectacularly wrong. The Liberals won a landslide victory of 400 seats to 157 for the Conservatives. The Conservative collapse owed much to a loss of faith in the party as a result of the Boer War and to a loss of support caused by unpopular policies.


The Boer War (1899–1902)


The war in South Africa had been caused by growing tensions as British miners sought to exploit discoveries of gold and diamonds on Boer territory. However, there were wider issues at stake – there was a long legacy of Boer distrust about British ambitions to annex the Boer territories and bring the whole of South Africa under British control.


The Conservative Government was heavily criticised over its conduct in the war, with regard not only to the high cost of the war in lives and money, but also the quality of Britain’s armed forces and abuses carried out against civilians.





•  About half of all British recruits failed their medical, suggesting that poor health was weakening the nation’s ability to defend itself.



•  The deaths of 28,000 Boer women and children in British concentration camps caused immense moral outrage.





Nonconformist voters


Many Nonconformists had traditionally voted Liberal but many had drifted away from the party in the 1870s and 1880s, mainly over disagreements about Irish Home Rule. However, a number of unpopular Conservative policies swung their support back to the Liberals.





•  The 1902 Education Act changed funding for schools. Nonconformists were furious that their rates would now be contributing to the costs of Anglican and Catholic schools.



•  The 1904 Licensing Act aimed to reduce the number of public houses but angered anti-drink Nonconformists as it proposed paying generous compensation to brewers for the loss of their licences.



•  ‘Chinese slavery’ was another moral issue which damaged the Conservatives. Chinese workers were imported to South Africa as cheap labour, which Nonconformists regarded as unethical exploitation. Trade unions also voiced fears that employers might import Chinese labourers to Britain to keep wages low.





As a result of these unpopular policies, over 200 Liberal Nonconformist MPs were elected to parliament in 1906.


Working-class voters


The Conservatives also alienated working-class voters.





•  The 1902 Taff Vale Judgement allowed companies to sue trade unions for losses caused by strikes, thereby virtually removing the unions’ most powerful weapon in industrial disputes.



•  There was a growing awareness that the state needed to do more to improve living standards for the most vulnerable. However, the Conservatives seemed unprepared to introduce any substantial social reform.





Tariff reform


In 1903, the Conservative Minister Joseph Chamberlain resigned his Cabinet post to campaign for a reintroduction of tariffs, arguing that this would strengthen the Empire, protect British jobs and fund social reform. However, the Liberals united against protectionism, campaigning to keep free trade, which had become a hugely popular cause in Britain in the second half of the nineteenth century because it was associated with cheap food and low taxation. Chamberlain’s action fatally split the Conservative Party.


Tariff reform was the key electoral issue, losing the Conservatives much support from voters who feared protectionism would lead to higher food prices.


Conclusion


Conservative weaknesses and misjudgements contributed immensely to their defeat. The Liberals were able to unite behind a new leader, Henry Campbell-Bannerman, and key issues such as free trade. The Liberal landslide was as much an overwhelming rejection of Conservative policies as it was a positive endorsement of new Liberal ideas.
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Below are a sample exam-style 12 mark question and a series of statements. Read the question and turn each of the statements into a relevant reason that could be used in the answer.




Explain why the Liberals won the 1906 general election.









	Statement

	Reason 






	

1. The Boer War caused national self-doubt …




	 






	

2. The 1902 Education Act changed funding for schools …




	 






	

3. The Conservative Government compensated brewers for public houses closed as a consequence of the 1904 Licensing Act …




	 






	

4. Cheap Chinese labour was imported into South Africa …




	 






	

5. The 1902 Taff Vale Judgement made strike action almost impossible …




	 






	

6. The Liberals opposed protectionism …
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[image: ] Delete as applicable
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Below are a sample exam-style 24 mark question and a paragraph written in answer to this question. Read the paragraph and decide which option (in bold) is the most appropriate. Delete the less appropriate options and complete the paragraph by justifying your selection.




How far was the 1906 Liberal election victory a result of Chamberlain’s tariff reform campaign?
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The tariff reform campaign was the most important reason / an important reason / just one of many reasons for the overwhelming Liberal victory in 1906. Chamberlain argued that protectionism would win votes because it would help restore confidence in the Empire after the Boer War, protect British jobs and fund demands for social reform. However, the growing unity of the Liberal Party was mainly in response to / partly in response to / connected with the public’s rection to tariff reform. This is because
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The growth of New Liberalism


‘Old Liberalism’


By the mid 1890s the Liberal Party had begun a process of redefining its principles and priorities. Many younger Liberals believed that the party was losing its electoral appeal as a result of the long political dominance of William Gladstone, leader from 1867 until 1894. Gladstone represented ‘Old Liberalism’, which rested on a number of ‘classic’ liberal principles: self-help, individual freedom of speech and worship, minimal government intervention and thrift.


New Liberalism


New Liberalism put greater emphasis on the role of the state to provide a ‘safety net’ for the most vulnerable. New Liberal thinkers argued that the party needed to respond more directly to the social problems caused by industrialisation: slum housing, increasing poverty, ill health and ignorance. The ending of the long mid-Victorian economic boom convinced New Liberals that economic growth alone would not solve such social problems so the state would have to be proactive.
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The Rainbow Circle


The Rainbow Circle was a group of progressive Liberal politicians and thinkers who started meeting regularly in the late 1890s. The group provided much of the intellectual foundation of New Liberalism. Its most notable members were: L.T. Hobhouse, R.B. Haldane and J.A. Hobson.
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Factors leading to the growth of New Liberalism





•  Gladstone’s retirement allowed new ideas and fresh opportunities to emerge.



•  Electoral defeats in 1895 and 1900 demonstrated the urgent need to reassess the party’s political appeal.



•  The foundation of the Independent Labour Party in 1893 and the Labour Representation Committee (LRC) in 1900 created new left-wing rivals for working-class votes.



•  The impact of a new generation of Liberal thinkers and young Liberal MPs, notably David Lloyd George, provided charismatic leadership.



•  Innovative social welfare schemes pioneered in Germany and New Zealand demonstrated that government intervention could help limit the most damaging effects of poverty.



•  The increasing radicalism of new trade unions for unskilled workers prompted fears of widespread industrial disorder unless the state acted decisively on their grievances.



•  The publication of social research findings, notably by Charles Booth and Seebohm Rowntree, between 1889 and 1903 drew attention to the increase in poverty.



•  The campaign for ‘national efficiency’ aimed to address two underlying issues recognised as contributing to Britain’s difficulties in defeating the Boers: Britain’s declining industrial lead over its strongest competitors, particularly Germany and the United States, and the damaging impact of poverty on the physical health of the nation.
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Social research


The findings of Booth and Rowntree illustrated the realities of poverty in urban and rural Britain, showing that almost 30 per cent of the British population lived at, or below, subsistence level. This research showed very clearly that poverty was largely caused by economic forces beyond the control of the individual and exploded the nineteenth-century belief that it was largely individual idleness that led to unemployment and want.
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Conclusion: Change and continuity


There was a lot of continuity between ‘Old’ and ‘New’ Liberalism. New Liberals still promoted the importance of self-help and still believed in only minimum state intervention to help those who could not help themselves. However, New Liberalism did place significantly greater emphasis on the role of the state and recognised the need for higher government spending and taxation to help the vulnerable. Indeed, it can be argued that New Liberalism laid the foundations of Labour’s post-1945 welfare state.


[image: ]



[image: ] Long term or short term
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Below is a sample exam-style 12 mark question, which asks for a range of reasons. Understanding the difference between long-term and short-term factors helps give structure to an answer to an ‘explain why’ question. The chart that follows offers a list of reasons that are relevant to the answer to the question. Using the information on the opposite page and your own knowledge, decide whether each reason should be considered a long- or short-term factor and tick the appropriate box.




Explain why the Liberal Party changed from ‘Old Liberalism’ to ‘New Liberalism’.









	Statement

	Long term

	Short term






	

1. William Gladstone’s retirement opened up opportunities for fresh ideas to emerge.




	 

	 






	

2. Poverty was increasing, as evidenced by social researchers such as Booth and Rowntree.




	 

	 






	

3. The Labour movement was growing in strength, particularly after the foundation of the LRC in 1900.




	 

	 






	

4. There was an escalation in industrial disputes by unskilled workers.




	 

	 






	

5. The campaign for ‘national efficiency’ grew in strength following Britain’s difficulties in the Boer War.




	 

	 






	

6. The Liberal Party was soundly defeated in the 1900 general election.




	 

	 






	

7. New social welfare schemes were introduced in Germany in the later nineteenth century.
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[image: ] Identify an argument
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Below is a sample exam-style 24 mark question and two sample paragraphs. One suggests a high-level answer because it advances a supported argument. The other suggests a low-level answer because it contains only description and assertion. Using the information on the opposite page and on page 4, identify which is which. The definitions below should help you.


Argument: giving a view supported by reasoning and fact


Assertion: giving a view that is not supported by reasoning and fact


Description: Providing facts but not in support of a view




How far did the Boer War contribute to the growth of New Liberalism?





Paragraph 1
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The Boer War began in 1899. It proved very difficult to defeat the Boers and the war was costly in lives and money. Nearly half of all British recruits failed their medical, which seemed to confirm the research of Booth and Rowntree, who identified a link between poverty and ill-health. This caused much debate in Britain. This was a factor in the growth of New Liberalism as it showed that new policies were needed to improve the nation’s health.
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Paragraph 2
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The criticisms of the Conservative Government’s conduct of the Boer War certainly contributed to its electoral defeat in 1906. Almost half of all British volunteers for the Boer War failed their medical examination which reinforced New Liberal beliefs that more state intervention was needed to improve public health. The campaign for ‘national efficiency’ would also have confirmed such beliefs. It is reasonable to argue, therefore, that the national self-doubt caused by Britain’s struggles to defeat the Boers would have provided strong evidence for New Liberalism.
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New Liberalism: social reform


There was limited reform under Campbell-Bannerman. His Government’s most significant action was the 1906 Trade Disputes Act, which reversed the Taff Vale Judgement. From 1908, however, under the new Prime Minister Herbert Asquith, the pace of social reform accelerated. This was led by the more radical Liberals, particularly David Lloyd George and Winston Churchill. These reforms were largely progressive in nature but did have a number of limitations.


Strengths


In many respects, these reforms fundamentally altered the relationship between the state and the individual, moving away from the nineteenth-century principle of laissez-faire towards increasing state intervention and beginning a modernising process which continued to the 1970s. The following key groups did benefit.


Children


Local authorities were given the power to provide free school meals (1906 Education Act) and had to set up a school medical service (1907 Education Act). The 1908 Children Act was a first step towards enforcing minimum standards of care for children.


Older people


The 1908 Old Age Pensions Act was Britain’s first state-funded, non-contributory support for the elderly.


Workers





•  The 1909 Trade Boards Act regulated the sweated trades.



•  Labour Exchanges (1909) provided a ‘one-stop’ location for finding work. The 1911 National Insurance Act was a landmark Act providing Britain’s first state unemployment and sickness benefit.



•  Other legislation aimed to protect workers against exploitation, for example the 1906 Workmen’s Compensation Act, which provided compensation for work-based accidents, and two Coal Mines Acts in 1908 and 1911, which limited underground working shifts to a maximum of eight hours and improved safety regulations.





Limitations


It was not the intention of the Liberals to create a welfare state but to provide a basic minimum of state support – in Churchill’s words, a ‘lifebelt’ against the extremes of poverty. New Liberals still believed there were limits to what the state should do and they still drew a distinction between the deserving poor and the undeserving poor.





•  Some legislation, such as the 1906 Education Act and the 1909 Town Planning Act, remained permissive and not all local authorities took action to introduce school meals or clear slums, which was their main purpose.



•  Some reforms, such as the 1911 National Insurance Act, were not free but remained contributory.





In addition, there were gaps in provision.





•  The old Poor Law was largely left untouched.



•  Lloyd George had intended to build new ‘council’ houses but his plans had to be shelved because of the outbreak of war.



•  The needs of those in casual employment were ignored.





Criticisms can also be made of the limited scope of the changes implemented.





•  The new school meals service for children was inadequately funded and much of the 1908 Children Act was simply an attempt to pull together existing law.
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